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01 AIXSHHENEXZ 72,930 60,775 12,155
OMZAMNT X2 sl=T2 72,930
J| 60,060
= 12,870

SAEZHEIH A 22l 2+¥Hl X 69,792 77,277 AT ,485
J| 57,476
o= 12,316

308 XX SHHSOIH 69,792 77,277 AT ,485
J| 57,476
= 12,316




C RV PEBIEE E
Ha: B0l Us Of
=

©el ol Ao

x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 69,792 77,277 AT,485
O&=&Iloll Xt 2 =Hl, 2tEH K& 69,792
J| 57,476
< 12,316
dEZdIoHAt SsSHES N 47,545 47,545 0
J| 39,225
< 8,320
308 XXIEHH SOl A 47,545 47,545 0
J| 39,225
< 8,320
01 AXHHILEES 47,545 47,545 0
Od=Z4Iloii =sHE s XN& 47,545
J| 39,225
S 8,320
ZAToH 01F0L BSANE 2N 170,836 134,259 36,577
J| 142,453
< 28,383
308 MtXIEHMSOIH 170,836 134,259 36,577
J| 142,453
< 28,383
01 HXNHHNBHELS 170,836 134,259 36,577
OZdIloh OIFHE ESAE 294 160,836
J| 132,453
= 28,383
OZ4dIlol 04 EsAIE &4 Al XHEX
22 10,000
J| 10,000
ZdIol 0Ol=0E &Ea 2EXE 210,898 0 210,898
Jl 140,599
< 70,299
308 XXM SO0l A 210,898 0 210,898
J| 140,599
< 70,299
01 IXNHHBNEES 210,898 0 210,898
O=Z=dMlal 004 &5 2SNE 210,898
J| 140,599
< 70,299
ZA0I6H OIFHA BESAL AFPY 1,275 3,060 1,785
J| 1,050
< 225
403 XIS S X201 & 1,275 3,060 A1,785
J| 1,050
< 225
01 XXM 22 = 1,275 3,060 A 1,785
OZdIloh OIFHE ESAE B2 1,275
J| 1,050




=2t
HE: B0l Us G4, =S T OHE
Sl oy Aol BT (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| < 225
Fdpgns NEXIAI2 N (E2F0Lns) 88,300 92,840 A4,540
2 44,150
< 44,150
307 gl2tol & 88,300 92,840 A 4,540
2 44,150
< 44,150
11T M SXASE EX 88,300 92,840 A 4,540
OZFHews XNIXIAIN2 XA 88,300
2 44,150
< 44,150
ZANYgnE NN NAOIEZH0LnSR) 8,750 10,120 1,370
2 4,375
< 4,375
307 212+0| & 8,750 10,120 A1,370
2 4,375
< 4,375
11T MISXASEX 8,750 10,120 A 1,370
O=ZAMLDE NANAI 2 X 8,750
2 4,375
< 4,375
Zd0HHE =HAUA 2L 31,134 28,833 2,301
J| 25,640
< 5,494
308 MXIEHSOIH 31,134 28,833 2,301
J| 25,640
< 5,494
01 HXNHHBHELS 31,134 28,833 2,301
OFgHaidd =AHAXNE 294 31,134
J| 25,640
< 5,494
A OHOH I o Rt XI & 251,384 244,689 6,695
J| 182,469
S 68,915
308 XX EHSOIA 251,384 244,689 6,695
J| 182,469
< 68,915
01 HIXNHHBMNEES 251,384 244,689 6,695
O&OHOHIIGH At & 29 120,537
J| 80,358
= 40,179
OdiHoHOloHOts, 844 XJdH 29 35,987
J| 23,991
< 11,996
OSOHOHIIGHA RIAAE 29 94,860
J| 78,120




CEH B (BH) - MBEAY - B2 ﬁlf& HD=2
== 16,740
SOHOHIIGH A K& JIsEZ 33,505 ,863 20,642
Dl 22,337
== 11,168
403 XX S S K201 A 33,505 ,863 20,642
J| 22,337
= 11,168
01 HXHNMAHEE = 33,505 ,863 20,642
OXSOHOHIIGH A XIRAIE JIsE 33,505
Dl 22,337
& 11,168
SOHOHIIGH XF 2 =X& AFH 37,643 ,929 9,714
Jl 31,000
& 6,643
308 AXISHAMSOIHA 37,643 ,929 9,714
Dl 31,000
== 6,643
01 AXHHNBIMNEXTZ 37,643 ,929 9,714
OSOHOHIIoH A 2 EXE AL 37,643
Jl 31,000
= 6,643
dEZY fYgus 5,000 ,000 0
201 Bt A H| 5,000 ,000 0
01 AP 2t2ldl 5,000 ,000 0
O3&X 43, 40100, 85
= 5,000
SAZHHA 212X 5,400 5,400 0
308 XX SHHSOIA 5,400 5,400 0]
01 AIXHMBAEXZ 5,400 5,400 0
O ZHTal X S A& 5,400
HEY 2tHA AlE SAK HLIHA 20,280 ,000 8,280
308 XX SHHSOIH 20,280 ,000 8,280
01 AIXHMBAEXZ 20,280 ,000 8,280
OAdZH ZAHAE SAMLL HRMAHI 20,280
Z0otsSEAE 4 oHD= 30,000 ,000 0
= 20,000
= 10,000
308 AXISHXMSO0IH 30,000 ,000 0
= 20,000
= 10,000
01 AXHNNBMNEXTZ 30,000 ,000 0]
OHMNOISEAE HolHWNR 30,000
= 20,000




2 Pt
HE: B0l Us G4, =S T OHE
Sl oy Aol BT (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| < 10,000
SHoAMe &4 AT 29,000 29,000 0
= 14,500
< 14,500
307 gl2tol & 29,000 29,000 0
= 14,500
< 14,500
11T M SXASE EX 29,000 29,000 0
OsthiMe & AAWNS 29,000
= 14,500
< 14,500
He2=2dst 13668 EH 2L (IUIXA) 641,230 615,742 25,488
J| 320,610
< 320,620
307 glz2tol & 641,230 615,742 25,488
J| 320,610
< 320,620
05 RIZt2E = 641,230 615,742 25,488
O0d2sds 13664 EH 2 641,230
Jl| 320,610
< 320,620
&2 83 13668EH 2 (RHMALY) 30,000 30,000 0
307 21201 A 30,000 30,000 0
05 RIZt2IEt = 30,000 30,000 0
On42sast 13664 EH 2 30,000
M2 83 1366HE JIsE22(3HIXA) 57,000 8,000 49,000
J| 28,500
< 28,500
401 Al HI K 201 I 34,000 0 34,000
J| 17,000
< 17,000
01 A& HI 34,000 0 34,000
Od2=83 136648EH JIsES 34,000
J| 17,000
< 17,000
402 RIZ2FRt20l ™ 23,000 8,000 15,000
J| 11,500
< 11,500
02 RIZEXt 2 AL EZ (OIS ) 23,000 8,000 15,000
ON42IZAs 13664 H JISEZ(SS) 23,000
J| 11,500
< 11,500
&2 83 1366HE JIs22 (MHMA) 26,000 0 26,000
401 AIEHI L 2 0] 26,000 0 26,000




SN MY
M 2ol As
g!

Sl ol

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 26,000 0 26,000
O13664IE AIRA ¥ 0™ JIsEL 26,000
=" 2 AMd 294 A& 58,200 50, 160 8,040
307 glz2tol & 20,400 20,400 0
05 RIZt2IE = 20,400 20,400 0
OWA=" 2HAE 2Ll XI2(1366) 20,400
308 XtXIEHHSOIA 37,800 29,760 8,040
01 HXNHHBHELS 37,800 29,760 8,040
ONWE=Ey ZHANE 2HHl N 37,800
ofdtetdl dy 2E XA 748,943 732,598 16,345
J| 616,777
< 132,166
308 XX EHSOIA 748,943 732,598 16,345
J| 616,777
< 132,166
01 HIXNHHNBMNEES 748,943 732,598 16,345
OclBletIIdH (RIS ) 2SR 341,801
J| 281,483
< 60,318
Odfittetd b (0tsE) I X 407,142
J| 335,294
= 71,848
HEHZIDIME, SZATMHK SSAE Js22Hl X 42,300 22,724 19,576
2
J| 28,200
< 14,100
403 XIS E X201 & 42,300 22,724 19,576
J| 28,200
< 14,100
01 X SHHXA2E = 42,300 22,724 19,576
OdittetJIdEH JIsE2d 19,050
J| 12,700
= 6,350
Od=Z"8Ici Kt E3A4 JIsEL 23,250
J| 15,500
< 7,750
O & QI & X2 OH e 4,357,231 3,732,449 624,782
= 2,220,631
< 2,136,600
MYHE NIE2G () 1,654,427 1,590,831 63,596
= 941,874
< 712,553
307 glz2tol & 1,654,427 1,590,831 63,596
= 941,874




SN HENEZ B

2
Za: B0 Us 04, =S T E
o
2

S g AR RN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 712,553
11T MISXASEX 1,654,427 1,590,831 63,596
OMZHH XF29(ZY) 847,088
2 471,244
< 375,844
OMYHEH NE2Y(MEE) 807,339
= 470,630
< 336,709
MYHEH XE 2Y(Al2) 979,635 1,231,318 A 251,683
= 979,635
308 XX EHSOIA 979,635 1,231,318 A 251,683
= 979,635
01 HIXNHHNBNEES 979,635 1,231,318 A 251,683
OMgHEH XNEZ2Y 979,635
= 979,635
HEFHGNALEH XA 127,260 114,541 12,719
308 XXM SOl A 127,260 114,541 12,719
01 IXNHHBANEES 127,260 114,541 12,719
OWdHAXJHEYH X 95,760
OXNZsd APussed 31,500
HEFHAXAD 2 AN HMLH XA 58,320 58,680 A 360
307 glz2tol & 44,400 43,200 1,200
03 BIAHNHE2IHIEL 44,400 43,200 1,200
OWEHAXZIZ SML HRMEE(HE) 44,400
308 XXM SOIA 13,920 15,480 A 1,560
01 IXNHHBANEES 13,920 15,480 A 1,560
OW&EFHAXAIZ SAKL HR2MEHI(AlIZ) 13,920
ZANEHINZUER T L3 18,000 20,000 A 2,000
307 21201 A 18,000 20,000 A 2,000
02 IS AHE L 18,000 20,000 A 2,000
OZY HEFHYXNA UERT 245t 18,000
E20LAEAMNLME X3 (XHA) 227,397 205,591 21,806
307 gl2tol & 227,397 205,591 21,806
03 BIAHMNHE2IHIEL 227,397 205,591 21,806
OSS0HHANSHEH 2% 227,397
ES0HAEM(Z2ZT2AY) 2Y 287,697 275,488 12,209
307 glz2+ol & 65,000 65,000 0
02 It AAHEE 65,000 65,000 0
OS=EHLAUEAY F& & At=2te| 65,000
308 XX EHH SOl A 222,697 210,488 12,209
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SN IS
M B0l Y= M, =S I OIE
SR PP EEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFYUNWY LXel SEEAS AY 115,800
HexFI2 XA 20,000 0 20,000
307 glz2+ol & 20,000 0 20,000
03 BIAtHMHE2IHIEE 20,000 0 20,000
O&dxgNAI2 2 XN& 20,000
A2ERH 31,972,270 25,127,829 6,844,441
= 11,149,393
s 2,000,000
J| 13,384,401
< 5,438,476
AZNE UGIeIENE Sl 29 1,976,858 932,360 1,044,498
J| 1,520,660
< 456,198
308 XtXIEHH SOl A 1,976,858 932,360 1,044,498
J| 1,520,660
< 456,198
01 X HHILEES 1,976,858 932,360 1,044,498
OH2IE - e IENd SEdH 29 1,976,858
J| 1,520,660
= 456,198
SsS0tUsH ALY 282,230 220,688 61,542
J| 217,100
< 65,130
308 A EHHSOIA 282,230 220,688 61,542
J| 217,100
< 65,130
01 HXNHHNBHNEELS 282,230 220,688 61,542
O3s=s0tUsH ALY 282,230
J| 217,100
< 65,130
JIEESE AtslEd =4 7,000 7,000 0
307 glz2tol & 7,000 7,000 0
02 It MAMHEE 7,000 7,000 0
OJt=&lsr elsJl2 & X3 7,000
SHE2IIE MHEL|H & XN (ks =Hl) 10,534,861 9,065,592 1,469,269
J| 9,364,321
< 1,170,540
308 XtXIEHHSOIA 10,534,861 9,065,592 1,469,269
J| 9,364,321
< 1,170,540
01 X HHILEES 10,534,861 9,065,592 1,469,269
OstR2IIE I =sd s XA 10,534,861
J| 9,364,321
= 1,170,540

_20_




=R o8, B=8 == 4=
&S ALIEEH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SIRRIIE SEXAIE 244 &F - XZH X& 14,055 10,554 3,501
J| 9,370
< 4,685
308 AHAIEHHSOIA 14,055 10,554 3,501
J| 9,370
< 4,685
01 HIXNHHNBHELS 14,055 10,554 3,501
ORI SXAE daX 4EINZHNH 14,055
J| 9,370
< 4,685
SSMEIIEH (YY) =AXA 48,200 42,200 6,000
J| 48,200
308 XXM SO0 A 48,200 42,200 6,000
J| 48,200
01 IXNHHBNEES 48,200 42,200 6,000
OZSMEINTSE(HLLU) =HNA 48,200
J| 48,200
SHE2I0E XI& 253,044 301,208 A48, 164
308 XX EHH SOl A 253,044 301,208 A48,164
01 AXHHILEES 253,044 301,208 A 48,164
OstR2II=E el X2 240,096
OSR2IIx Nsstd Tt wsH X3 12,948
otolss XA 11,110,487 10,038,209 1,072,278
= 9,824,267
< 1,286,220
307 glz2+ol & 110,000 110,000 0
= 77,000
< 33,000
11T MISRASER 110,000 110,000 0
OO0l SSAY Z290&8I|12 29 110,000
= 77,000
< 33,000
308 MtXIEHSOIH 11,000,487 9,928,209 1,072,278
= 9,747,267
< 1,253,220
01 HXNHHBHELS 11,000,487 9,928,209 1,072,278
OO0t0IS SN & ALY 11,000,487
= 9,747,267
= 1,253,220
OOl SS X3 EEH SAXN dMA 12,120 11,760 360
308 XX EHSOIA 12,120 11,760 360
01 HIXNHHNBMNEES 12,120 11,760 360
OOloI=s X2 HE BMK MM 12,120




= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

rsdz2dst NE A 225,750 218,235 7,515
2 150,500
< 75,250

308 AHAIEHHSOIA 225,750 218,235 7,515
= 150,500
< 75,250

01 HIXNHHNBHELS 225,750 218,235 7,515
OF e - A=K 225,750
= 150,500
< 75,250

HAES2D LR (0tsL=Hl) 167,621 151,954 15,667
J| 148,997
< 18,624

308 XXM SO A 167,621 151,954 15,667
J| 148,997
< 18,624

01 AXHHILEES 167,621 151,954 15,667
OFAHEEREE NHEXA 167,621
9] 148,997
< 18,624

HAYE DIELREX HEI2 2Y 38,382 37,852 530
J| 25,588
< 12,794

308 XX EHH SOl A 38,382 37,852 530
J| 25,588
= 12,794

01 HXNHHNBHEELS 38,382 37,852 530
Oddg DIE2RX HEII2 24 38,382
J| 25,588
= 12,794

Ct2stEXJdH 29 295,035 575,250 A 280,215
Jl 226,950
< 68,085

308 X EHSOIA 295,035 575,250 A 280,215
J| 226,950
< 68,085

01 HIXNHHBMNEES 295,035 575,250 A 280,215
OUIaIIEXNLEH 29 295,035
J| 226,950
< 68,085

CGE3NEXNE HEEH 29 37,300 37,300 0
J| 18,650
< 18,650

308 XXIEHH SOl A 37,300 37,300 0
J| 18,650
< 18,650

- 22 -




= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
01 HIXNHHNBHNEES 37,300 37,300 0
OUZRaAINFXNE HNEHEH 23 37,300
J| 18,650
< 18,650
Ct23tE SE435tAMY , 163,111 2,027,707 135,404
J| 1,663,922
< 499,189
308 XXIEHH SOl A , 163,111 2,027,707 135,404
J| 1,663,922
< 499,189
01 AXHHILEES , 163,111 2,027,707 135,404
OUZ2sIIE E4dstAtE , 163,111
J| 1,663,922
S 499,189
AZ0tE L OEZetdE AR RIS K& 39,960 37,800 2,160
308 MtXIEHSOIH 39,960 37,800 2,160
TRAXNEHEHEES 39,960 37,800 2,160
OAAINE L RSN XNAHEH SALK H
N 39,960
=S2Z HSINESLFME A 120,000 120,000 0
308 XtXIEHHSOIA 120,000 120,000 0
01 AXHHILEES 120,000 120,000 0
O=2Z2ZIIEEs AR d2ISLE ML 120,000
ChEstits SHAX R (XA) 135,300 133,800 1,500
308 XXX SO 135,300 133,800 1,500
01 HXNHHBHELS 135,300 133,800 1,500
OU=2sotEs sHIXI& 133,800
OSHAXIAN BExUS 1,500
Ct2sthts X 27,000 27,000 0
201 et 17,000 16,600 400
01 At 2teltl 17,000 16,600 400
OUZatItE AAR &2t 17,000
308 XXX S0 10,000 10,000 0
01 IXNHHBHEELS 10,000 10,000 0
OUIsIE - A2 EXNH A2 gsH=> 10,000
CtE3tot=E stotg sH X2 15,000 15,000 0
308 XXM SO A 15,000 15,000 0
01 HIXNHHBNEES 15,000 15,000 0
OU=23ItE &its sH X&E 15,000
CHEtH == ML (& XIHI) 975,546 416,000 559,546

_23_




- _ _ RE]
CEB - HS(3H) - HBAY - B Ol At o ﬁ}lgﬁ HRE2

= 795,546
& 180,000

403 XX SHHS K20 & 975,546 416,000 559,546
2 795,546
&< 180,000

01 XIS AE2E X 975,546 416,000 559,546
OUEMN =AY 975,546
= 795,546
& 180,000

St =2 A (elAHd]) 496,692 258,597 238,095
2 354,780
=} 141,912

308 MXISHMSOIA 496,692 258,597 238,095
2 354,780
& 141,912

01 IXHHIMNEEXTZ 496,692 258,597 238,095
OUEMN =S At 496,692
2 354,780
& 141,912

S =2 MY (29H|) 34,020 0 34,020
= 24,300
= 9,720

308 XXIEHSOIA 34,020 0 34,020
= 24,300
o= 9,720

01 AIXSHMENMNEX= 34,020 0 34,020
OUEN =SAY 34,020
= 24,300
& 9,720

SHE2IJIE EXA4E Ol0l=EAHA NS 122,177 99, 184 22,993
J| 108,258
& 13,919

308 XHXIGH SO0l & 122,177 99, 184 22,993
J| 108,258
& 13,919

01 AIKSHHENEXZ 122,177 99, 184 22,993
Ost22IIE SXA4E ololssSAblA X& 122,177
Jl 108,258
= 13,919

IIEHEH g 2,800,000 0 2,800,000
hag 2,000,000
o= 800,000

403 XX SRS R 20| & 2,800,000 0 2,800,000
Fag 2,000,000
=} 800,000

01 XS A2E X 2,800,000 0 2,800,000

_24_




SN HENEZ B

H
dH: B0 A= 04, =S F= A=
A

Sl AYINFEY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

OJ=EdH A 2,800,000
s 2,000,000
< 800,000

CHEEH =SS MY SAL M 2,760 0 2,760

308 XXM SOIA 2,760 0 2,760

01 XML EES 2,760 0 2,760
OUENSSAY SALR MR &I 2,760

BERNEZNAL ASSRQA o FY| 14,445 0 14,445
J| 14,445

308 X XIEHHSOIA 14,445 0 14,445
J| 14,445

01 X HHILEES 14,445 0 14,445
ORZIIEZXNANE M= 215 A 14,445
J| 14,445

ROt 2E0I=0HA C0Is MY 23,316 0 23,316
Jl| 17,940
< 5,376

308 XX EHSOIA 23,316 0 23,316
J| 17,940
< 5,376

01 HXNHHNBMNEES 23,316 0 23,316
OR0It= BE0I=0Y U0IS ALY 23,316
J| 17,940
< 5,376

Ol 8 Setk =29 278,138 277,715 423

st BAsd =4 278,138 277,715 423

101 @124 dl 16,177 15,769 408

04 12t Z2XEES 16,177 15,769 408
OFAL 2e] 15,119
OHERE=S 1,058

201 Yet2 | 177,061 166,666 10,395

01 At 22l 14,080 9,080 5,000
Ogetd a2l 5,000
Ozt J= 5,000
o=l 720
O&=J| &Xtdl 3,360

02 =224l 162,981 157,586 5,395
02323 % HAl 71,542
—QHY S 2 OXNELES = 3,600
—HdxER3 8,190
-®MIzIeE 12,996
-dMlIg(AMEE) 38,016

_25_




SN HENEZ B

M
dH: B0 A= 04, =S F= A=

S DL ER 29 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

-—NERLREES 1,500
- &I &Hl HIIZ A 1,000
—-LPG JIAANIE 2 4,800
-FAUHAY SASAY D0l Myl 1,440
(@)sK=3] 12,258
-22K8E 9,180
-22JE28E 3,078
OAI& &Hl KX Hl| 79,181
- M3Z AlIE&=2 &S A 8,000
-WsEH A2 4,000
-&3A RAE > 16,281
-d3X SANEX 2,700
-8 . A SEAE RAES 4,000
—HITIAHAHRANES 2,000
-S2Y833 A 2,000
-&5&J 7K 2el 6,360
-Fodd 249 4,320
-4 HelAld zZte 7,920
— &I otA 22 6,240
—ABAIA OtX 2t e 4,560
-goas 4,800
-xF a2 6,000

401 Al B2 20 HI 38,000 60,000 A 22,000

01 A& HI 38,000 60,000 N 22,000
O0lHH S EctA 8ZHA ALY 38,000
—CCTV &X ¥ 22J] WXl 3At 18,000
-H2Y &L HESSA 20,000

405 XHAHE S| 46,900 35,280 11,620

01 AL =S EF SHI 46,900 35,280 11,620
OQIAEE D] 2,000
OJtAd Xl 3+ 1,500
oYz AH 35,000
OMEII 8,400

A2t ,639,984 10,919,425 2,720,559
= 767,038
J| ,970,280
< ,902,666

HAEANS Y ,079,503 4,775,590 2,303,913
= 753,038
Dl 230,720
T ,095,745

HAEINNSE 36,000 36,000 0
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SN IS
=R R PNEP I
SC I PEEIFE W (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 36,000 36,000 0
11T M SRASEEX 36,000 36,000 0
O&FAY FMnRT 36,000
NEEAEHENWRRAE 29 10,000 10,000 0
J| 5,000
< 5,000
307 glz2+ol & 10,000 10,000 0
J| 5,000
< 5,000
11T MISRASER 10,000 10,000 0
OAMNEEAHEONRREE 2Y 10,000
J| 5,000
< 5,000
ANEELAEHEHRARASE 29 11,200 5,600 5,600
J| 11,200
308 MXIEHMSOIH 11,200 5,600 5,600
J| 11,200
01 HXNHHNBHELS 11,200 5,600 5,600
OXNGHLEFHFAHRARE 29 11,200
J| 11,200
HAad oA 12,000 12,000 0
307 gl2tol & 12,000 12,000 0
11T M 2XALSE EX 12,000 12,000 0
O&AYE H=H 12,000
S MO Hal HaYd &It 15,000 15,000 0
307 i+l & 15,000 15,000 0
11T MIZSXAISEX 15,000 15,000 0
O=HOordtHal Ha4d It 15,000
FAadHH sgg8s Z208 29 36,000 36,000 0
307 21201 A 36,000 36,000 0
11T M3 SXASEEX 36,000 36,000 0
OFAUHN =& T2 294 36,000
Y MAZ= WwsEZZ2 03 K& 40,000 40,000 0
= 20,000
< 20,000
307 gl2tol & 40,000 40,000 0
= 20,000
< 20,000
11 ALS S XALEE = 40,000 40,000 0
Ol MAEZ= Wz I 40,000
= 20,000
< 20,000
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SN IS
=R R PNEL-LIETE
CHol: HAEHESAY (ctel:&2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FAHSENER 235 NE 646,460 658,667 A 12,207
= 193,938
< 452,522
307 gl2tol & 646,460 633,667 12,793
= 193,938
< 452,522
10 AL SXNAIEEE2EH EX 491,310 475,250 16,060
O3xd EsdsdH 24 491,310
= 147,393
< 343,917
11T MISXASEX 155,150 158,417 A 3,267
OFEad 23XEHH X3 AY 165,150
= 46,545
S 108,605
SESFAHSHIUER JIs:2EL 23,598 14,500 9,098
402 RI2EX20| ™ 23,598 14,500 9,098
01 2I2E 2 A B (REM ) 23,598 14,500 9,098
OFALISEIEY MBI & 2ZEHNH P
2 17,798
OBLHAE=EXNHH JIsE22 5,800
A9 HSElY 2T 124,845 124,845 0
= 86,100
< 38,745
308 XX EHSOIA 124,845 124,845 0
= 86,100
< 38,745
01 HIXNHHNBMNEES 124,845 124,845 0
O&FAY HSE0Y 22XA 124,845
= 86,100
< 38,745
da4d Sotel 2sX& 55,100 55,100 0
= 38,000
< 17,100
308 XX EHHSOIA 55,100 55,100 0
= 38,000
= 17,100
01 AXHHILEES 55,100 55,100 0
O&A4E Fotel K& 55,100
= 38,000
< 17,100
HAEHSBEAE NS A & (X&) 197,520 202,332 A4,812
J| 197,520
308 XX EHH SOl A 197,520 202,332 A4,812
J| 197,520
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SN IS
=R R PNEP I
SC I PEEIFE W (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 197,520 202,332 N4,812
OFLAFEAMNE XNE A X2 197,520
J| 197,520
Fad 29233 29 17,000 15,000 2,000
J| 17,000
308 XXM SOIA 17,000 15,000 2,000
J| 17,000
01 XML EES 17,000 15,000 2,000
O 344 24233 294 17,000
J| 17,000
FAE Fus T=20H 286,000 314,286 A 28,286
= 200,000
< 86,000
307 21201 A 286,000 314,286 A 28,286
= 200,000
= 86,000
11 ALS S XAEE = 286,000 314,286 A 28,286
O&FA4d gzdus 2279 286,000
= 200,000
< 86,000
S3EAHSEANE JIsEL(NI-THEAY) 4,103,000 1,760,000 2,343,000
403 X SHHSA=0l& 4,103,000 1,760,000 2,343,000
01 HXSHMA2E X 4,103,000 1,760,000 2,343,000
OZ3sEad=EHANE JIs22 4,103,000
Aotstsd 2R 100,000 100,000 0
307 glz2+ol & 100,000 100,000 0
05 RIZt2IE = 100,000 100,000 0
Olgsrsd 2LX& 100,000
FAEXNEX HML8 XA 185,280 181,560 3,720
307 21201 A 79,200 79,200 0
03 AHHEE2IHIES 79,200 79,200 0
OFLAEXNZX MRMSH XN (HE) 79,200
308 XX EHHSOIA 106,080 102,360 3,720
01 HXNHHBHNEELES 106,080 102,360 3,720
OFLEXNEX MM X (XH) 106,080
S3EAESEANE JsEL(AE-HEAMY) 784,000 716,000 68,000
401 Al HIZ 2018 784,000 716,000 68,000
01 A& HI 784,000 716,000 68,000
OBSEaHFHANE JIs:2d 784,000
FAHAZRXA 322,500 327,500 A5,000
= 215,000
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S M EE
=R R PNEP I
e FAHAESY (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 107,500
308 XXM SO A 322,500 327,500 A5,000
2 215,000
< 107,500
01 IXNHHBNEES 322,500 327,500 A5,000
O&FAY A2XA 322,500
= 215,000
< 107,500
o FHIP 2R AY 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T MISRAMSER 10,000 10,000 0
OFAY HWIF 23 A 10,000
Aostsd JIsEd 64,000 60,000 4,000
402 RI2EXt20l 64,000 60,000 4,000
03 212t & AFS HI 64,000 60,000 4,000
OXoistsa A8 g4 64,000
HFAEUESHE 6,560,481 6,143,835 416,646
= 14,000
J| 4,739,560
< 1,806,921
HA2stde 2L (HY) 309,104 301,172 7,932
J| 154,552
< 154,552
307 gl2tol & 309,104 301,172 7,932
9] 154,552
< 154,552
10 AL SXAIEEE2EHEX 309,104 301,172 7,932
O42stdlH 2SN (LEEH) 154,552
J| 77,276
< 77,276
O42stdlH 22X (01sE) 154,552
J| 77,276
= 77,276
A2ty W 2 5,000 0 5,000
J| 5,000
308 XX EHH SOl A 5,000 0 5,000
J| 5,000
01 HXNHHBHELS 5,000 0 5,000
OFAULEsdH 7 2 5,000
J| 5,000
HIstde 2GR (XA) 77,276 75,293 1,983
J| 77,276
308 XX A S 0| & 77.276 75,293 1,983
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S M EE
M HAE A
& FAHESHE CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 77,276
01 IXNHHBNEES 77,276 75,293 1,983
Od=2stdy 2HX& 77,276
J| 77,276
U= 2SIt 24 13,500 15,000 A 1,500
307 21201 A 13,500 15,000 A 1,500
11T MISRASEX 13,500 15,000 A 1,500
Odu=s N3 24 13,500
FAaERofSIZAE NFEg2s 29 4,000 4,000 0
= 2,000
< 2,000
307 21201 A 4,000 4,000 0
= 2,000
< 2,000
11 ALS S XAEE = 4,000 4,000 0
OFAEIRNSIZAE N2 2L 4,000
= 2,000
< 2,000
FAaERoHSIZAE 29 18,000 18,000 0
= 12,000
< 6,000
308 XXM SO0 A 18,000 18,000 0
= 12,000
< 6,000
01 IXNHHBNEES 18,000 18,000 0
OFadRoiatdzAd 29 18,000
= 12,000
< 6,000
HAE & 2SN (HY) 212,700 148,712 63,988
J| 106,350
< 106,350
307 21201 A 212,700 148,712 63,988
J| 106,350
< 106,350
10 ALSISXAIEEER2IHEX 171,900 111,580 60,320
OFaddy 2 X3 171,900
J| 85,950
= 85,950
11T M SXAISE EX 40,800 37,132 3,668
OFadaEH 2IAY 40,800
J| 20,400
< 20,400
HAE dH 2R (XH) 1,022,130 874,301 147,829
J| 786,254
< 235,876




SN IS
Bo: HAEolE s
Chel: EAEBsSHEE (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
308 X EHSOIA 1,022,130 874,301 147,829
J| 786,254
< 235,876
01 HIXNHHBHNEELES 1,022,130 874,301 147,829
OFad&alH 29 XA 1,022,130
J| 786,254
< 235,876
HAHOIMY AX(MY) 407,760 402,960 4,800
J| 203,880
< 203,880
307 glz2+ol & 407,760 402,960 4,800
J| 203,880
< 203,880
10 ALSISXAIEEE2EHEX 306,048 306, 360 A312
OF BAUUNY D&Y 306,048
J| 153,024
< 153,024
11T M SXALSE EX 101,712 96,600 5,112
O FAdotdY IFAY 101,712
J| 50,856
< 50,856
HAHONMY A (XH) 589,080 573,720 15,360
J| 589,080
308 XXM SO0l A 589,080 573,720 15,360
J| 589,080
01 IXNHHMBNEES 589,080 573,720 15,360
OAlZ EAEMT A ALY 589,080
J| 589,080
ELAEHAERHEAY 561,298 532,298 29,000
307 21201 A 561,298 532,298 29,000
10 ALSISXAIEEE2IHEX 506,298 477,298 29,000
O ag=ENdH 249 506,298
11T M SRASE EX 55,000 55,000 0
OFAEHEXEAY 55,000
FAaE g QAHH 24 10,000 10,000 0
307 21201 A 10,000 10,000 0
11T MIEXASEX 10,000 10,000 0
O&FEAYE LHtolddy 24 10,000
SHAEZZNY2I XA (YY) 103,600 99,500 4,100
J| 51,800
< 51,800
307 21201 A 103,600 99,500 4,100
J| 51,800
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2N
X RH: ®
L= B (=}

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

< 51,800

10 M SXNANEEHE2IHE=x 103,600 99,500 4,100
Ot st Z270d 2ZX& 103,600
J| 51,800
< 51,800

SHAEZZDY2I XA (XH) 330,830 315,975 14,855
| 330,830

308 XXX S0IA 330,830 315,975 14,855
| 330,830

01 AXNSHHEBANEES 330,830 315,975 14,855
OANZ St T2 2 XA 330,830
| 330,830

st gt HAE X2 (HY) 351,966 347,500 4,466
J| 246,376
< 105,590

307 gl2tol & 351,966 347,500 4,466
J| 246,376
< 105,590

10 M3 SXNANEHI2IHES 220,040 208,500 11,540
Ok st 5 344 N3aAMNY 2 220,040
| 154,028
< 66,012

11 AISI S XA E X 131,926 139,000 AT,074
Ok st & HA4Ad NI AMY 131,926
| 92,348
< 39,578

St o8 HAE X (M) 887,334 871,878 15,456
J| 887,334

308 XX EHH SOl A 887,334 871,878 15,456
J| 887,334

01 AXSHBLELS 887,334 871,878 15,456
OAlZ &t st #3448 K& 887,334
| 887,334

7t ZSEADHAE 29 (HY) 67,706 66,040 1,666
| 67,706

307 glz2tol & 67,706 66,040 1,666
| 67,706

11 AISI S XA E = 67,706 66,040 1,666
ONrstn =g 29 67,706
| 67,706

HAESHENY AY(X) 52,960 54,600 1,640
| 52,960

308 XXIEH S0l A 52,960 54,600 A 1,640
| 52,960
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SN IS
=R R PNEP I
Cel HadEsHE (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 AXSHHBLEES 52,960 54,600 A 1,640
OANZ HAUSEEIA ALY 52,960
J| 52,960
a4 s 23X 1,392,337 1,378,886 13,451
J| 1,071,030
< 321,307
308 XXM SOIA 1,392,337 1,378,886 13,451
J| 1,071,030
< 321,307
01 IXNHHBANEES 1,392,337 1,378,886 13,451
O&FAE &ts 23X 1,392,337
J| 1,071,030
< 321,307
Stn=Edy AAE XNJAME(XE) 56,980 54,000 2,980
J| 56,980
308 MtXIEHSOIH 56,980 54,000 2,980
J| 56,980
01 HXNHHNBHEELS 56,980 54,000 2,980
OBD=2 AAE X ME 56,980
J| 56,980
OIHY == MGAGA XA (HE) 69,536 0 69,536
J| 34,768
= 34,768
307 glz2tol & 69,536 0 69,536
Jl| 34,768
= 34,768
11T M Z2XAIS EX 69,536 0 69,536
O 5= MESEA BIXI ALY 69,536
J| 34,768
< 34,768
CIHY == MGAGA HXIAMS (XR) 17,384 0 17,384
J| 17,384
308 XXM SOIA 17,384 0 17,384
J| 17,384
01 AXHHILEES 17,384 0 17,384
OQHY &= dEaEA BHXIAS 17,384
J| 17,384
HE2IAIH (L) 122,273 196,232 AT73,959
el 2l 35,894 109,853 A 73,959
ol 2| 35,894 109,853 AT73,959
101 @124l 35,894 109,853 AT3,959
03 RIAHAAZZRHE > 35,894 109,853 AT73,959
Ot=L2& 35,894
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SN IS
H: HHE2IAH(HLF=2)
& o 2d|
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
— o= 35,854
s 1,954,930& 1201 & 1Y 23,460
OIF OF2, BURR4Y
16,3603 x15A1 2t+ 120 S +1H 2,945
SPNE=, 87,2803 x 15 x1H 1,310
- HE S0 1,954,930& *60%*23] 2,346
IIESE 40,0003 x 123 «1H 480
=E=is| 130,000 128 x1H 1,560
AAESHEE+E 469,080*43| x2H 3,753
- A=A 20,000& »23] 40
JlEZl 86,379 86,379
Jl2&l 86,379 86,379
201 L2l 23,949 23,949
01 At 22l 23,949 23,949
OJle+=EHl 9,774
OJles gl 14,175
202 o4dl 51,030 51,030
01 = LH o4 1l 51,030 51,030
OJl20Hl 51,030
203 IR E= A Y| 11,400 11,400
01 J1Z22Z YR8 6,600 6,600
ougiI=z & 6,600
04 FN2ELRZ=TH| 4,800 4,800
OWgItE=Z M2 4,800
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n0
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=L I
Hu: SSUAIY 58|
Chel: XEsot o2 HEUERT 23 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
NGset ofZ2 E8UERT 2&t 391,416 370,000 21,416
Z2AHZE s 2 200,000 200,000 0
201 L2 | 200,000 200,000 0
02 ZZ2Hl 200,000 200,000 0
OUEIIANEXAE 3 23 200,000
=548 28 2 NgEd =4 191,416 170,000 21,416
307 glz2tol & 191,416 170,000 21,416
05 RIZHRI & 3 191,416 170,000 21,416
OIEDEYN & YA STMH 191,416
70 & =ZSU=E K2 58,354,372 54,909, 557 3,444,815
WEHEX 58,354,372 54,909, 557 3,444,815
M=\ PSEME = 34,989,912 31,485,168 3,504,744
703 n=EHIEEIHEEZ 34,989,912 31,485,168 3,504,744
N HIEES 34,989,912 31,485,168 3,504,744
OusMIEn=E3 34,989,912
St K& 23,364,460 23,424,389 A59,929
308 XXM S0l A 23,364,460 23,424,389 A 59,929
01 IXNSHHBANEES 23,364,460 23,424,389 A 59,929
Ox-8- -1 -S=xs8u 2454 X& 23,364,460
JNRS=Rel DY Rl 650,000 657,000 A7,000
NS 22000 24 650,000 657,000 AT,000
SSAHLLEHHE 2 650,000 657,000 AT,000
306 243 650,000 657,000 A7,000
01 &3 650,000 657,000 AT,000
Os=dHLLEHHt 2= 650,000
Xgolsl X 22,000 22,000 0
T3 K& 22,000 22,000 0
o o & & 22,000 22,000 0
04 A3 RE=S 22,000 22,000 0
03 a2 E3 22,000 22,000 0
Oo& &ol s 24 22,000
23 HHEY KA 9,155,600 5,763,125 3,392,475
s 7,323,100
< 1,832,500
29 HEgd N 9,155,600 5,763,125 3,392,475
s 7,323,100
< 1,832,500
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L EE-E BT

M o NES X
zo eig X crel &)
- _ _ RE]
H-H2 - B9 (3H) - HEAY - BA=S Ol At o ﬁ}lgﬁ HRE2
ASEAMMHASS XA 136,200 171,200 A 35,000
= 68,100
& 68,100
201 gBt2A | 59,200 49,200 10,000
= 29,600
= 29,600
01 AP 22| H| 39,200 34,200 5,000
OX =& Al A 39,200
Fag 19,600
=} 19,600
03 A2 HH| 20,000 15,000 5,000
OX =& Al =} 20,000
= 10,000
& 10,000
202 o4 H| 22,000 27,000 A5,000
g 11,000
= 11,000
01 2L I 12,000 17,000 A5,000
OX =& Al A 12,000
= 6,000
= 6,000
04 =Ml st dl 10,000 10,000 0
OX &AM A A 10,000
Fag 5,000
= 5,000
207 SO0 | 45,000 80,000 A 35,000
g 22,500
= 22,500
01 A 45,000 80,000 A 35,000
OX =& Al 45,000
Ry 22,500
& 22,500
301 et A =2 10,000 15,000 5,000
Fag 5,000
& 5,000
06 212t01 =22/ (4 HI 5,000 10,000 A5,000
OX S Al E o3 2 SR ARH ZAIA T 5,000
= 2,500
== 2,500
09 HAIAHI X & 2 5,000 5,000 0
OXEs A& o3l 5,000
Fag 2,500
& 2,500
FAXNE HZANY (== 4,983,400 2,421,200 2,562,200
g 4,525,000
& 458,400
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-+

-E BT

D olEe X
o o X (Sl &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 UHXSHHSA=0l& 4,983,400 2,421,200 2,562,200
s 4,525,000
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2N
X ZH -
L= B

el

NEgg
A=W &5
IR B

SN FH-SA(EN) - MBAY - BES 0l &k o4 il HlnE2
306 2= 137,971 129,476 8,495
01 &= 137,971 129,476 8,495
OXNLNARE EAHS 137,971
308 XXM SOIA 23,574 23,574 0
10 I 2 SO0CHetE & X 2 E AL I 23,574 23,574 0
OHEXNLAA=LEEANAE KA 22| 23,574
403 A X EHHS =0l A 493,371 25,572 467,799
02 S 2S0Het A= 2 & AL 493,371 25,572 467,799
OXMIOH XNYHEZAIAE 2= (2CH) 428,664
OXHO XYHMASLEEAALY 2F(26HH) 64,707
HEFEILA S A 1,251,811 1,173,125 78,686
= 1,247,811
< 4,000
201 Let24E] 4,000 4,000 0
= 2,000
< 2,000
01 At 22l 4,000 4,000 0
OMNEFEIIAZ Al LEH2EH] 4,000
= 2,000
< 2,000
202 O4dl 4,000 4,000 0
= 2,000
< 2,000
01 = LH 4 Hi 4,000 4,000 0
OWEZEINATA LR 4,000
= 2,000
= 2,000
308 XXM SOIA 1,243,811 1,165,125 78,686
= 1,243,811
01 AXHHILEES 1,243,811 1,165,125 78,686
OMNEFEIIAZ Al =& 1,243,811
= 1,243,811
ME X 347,597,980 313,975,888 33,622,092
SRS E=gmE 19,943,130 20,084,070 A 140,940
ANz 323 12 19,943,130 20,084,070 A 140,940
308 XXM SOIA 19,943,130 20,084,070 A 140,940
02 8+NLF= 19,943,130 20,084,070 A 140,940
OF+W22(2020F XM H22) 19,943,130
LEHEZWES WR 327,654,850 293,891,818 33,763,032
A WEFZ W2 327,654,850 293,891,818 33,763,032
308 MtXIEHMSOIH 327,654,850 293,891,818 33,763,032
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2N NEBEE2

M WEXEH

Sel: ANZHDEZ D (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

04 Al - 2XHUWES 327,624,470 293,865,778 33,758,692
OYLUBIXF N2 2(2020F XA Ax&) 327,624,470

06 Al - ZJIEFH& =& HI 30,380 26,040 4,340
OA - 2 JIEFHE ZHH (FHLFIEFZ) 30,380

ME=\ FSPAE] 158,116,000 155,099, 000 3,017,000

NLn=sHN = 158,116,000 155,099, 000 3,017,000

NEUNSAHN d+H NE=2 158,116,000 155,099, 000 3,017,000

703 URHISEIHTEZ 158,116,000 155,099, 000 3,017,000

01 HEXEZ 158,116,000 155,099, 000 3,017,000
OXNLNEAN N 158,116,000

HHSAHHH (M3 52,763 52,763 0

DIR= sl 52,763 52,763 0

Jl&l 52,763 52,763 0

201 LEt2 Y| 16,853 16,853 0

01 AR 22| bl 16,853 16,853 0
OJle+=2H| 6,878
OPIE==2=1:| 9,975

202 04| 35,910 35,910 0

01 2LHHI 35,910 35,910 0
OJ120 bl 35,910
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N = 0l & At & Ml A

20209 &= =0l &t LB &
E R TEE-E1=1=""
HE: HANM U A2 =0
Sel: BEFM AAY 235 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FEFMGH2 36,381,515 23,718,068 12,663,447
= 7,586,068
< 28,795,447
FEEM o Ldxtel =t 16,226,722 4,377,924 11,848,798
=2 7,558,421
< 8,668,301
HEAFM AIAEH 25 719,275 377,500 341,775
FEFEHO HER JIRF 78,000 29,500 48,500
201 Let24d] 18,000 19,500 A 1,500
01 At 22l 18,000 15,000 3,000
Ot & ==ZH| 8,000
OBEXNANG 222 HA S 7,000
OHERAA 24 3,000
202 04 tl 7,000 7,000 0
01 = LH 4 Hi 7,000 7,000 0
OFY HRFA Kl 7,000
203 R =&l 3,000 3,000 0
03 AIMFXH R =ZH| 3,000 3,000 0
OHUYUDER AMAREZ 3,000
308 XXIEHH SOl A 50,000 0 50,000
10 SII 2SO CHEtE & X 2 & AF I 50,000 0 50,000
O&4E 1008 EE3 50,000
HAEXA UESD 22 G (XHA) 641,275 348,000 293,275
308 MtXIEHMSOIH 641,275 348,000 293,275
1037/ 2S0HUHS B4 EAEALS HI 641,275 348,000 293,275
55 Y JYMEH 23 541,275
OF=E4Y=EAM 100,000
FE el & 15,507,447 4,000,424 11,507,023
= 7,558,421
< 7,949,026
FESLHYXA 357,765 604,765 A 247,000
307 21201 A 120,000 220,000 A 100,000
02 HAFAANFEE 120,000 220,000 100,000
OUst g Xrelde XNJA(US) 120,000
308 A EHHSOIA 237,765 349,000 A 111,235
1037/ 2S0HUHSBHEAE ALS HI 237,765 319,000 A 81,235
02030 HIHAA XA 102,000
OFY HgAeadsh At 135,765
Ea0|g 3Ed el MEXNA(EX) 135,207 0 135,207
= 48,592
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SN BEZMSSH
HE: HANM U A2 =0
©el FEARel B A:Ee)
- _ _ RE]
M- B (B H) - NSAY - B Ol At o %@i HRE2
= 86,615
308 XX G SO0l & 135,207 0 135,207
= 48,592
= 86,615
10 2|2 S0 USHE A X AE AL Y| 135,207 0 135,207
OFAJY dH2AdXe HEXRAY 135,207
= 48,592
& 86,615
HUMSUHI A 780,000 740,000 40,000
308 MXISHHMSOIA 780,000 740,000 40,000
10 B 2SHUSE AN E AIS Y 780,000 740,000 40,000
OzAINg-A0|g2 dA3 A2 AN A K& AF
o 0
OaEYdXel 221 X3 340,000
Od&EEIXNE HE2ZX 25X 440,000
HEEHAX A 380,000 380,000 0
307 2iz2to| A 200,000 200,000 0
02 QIZIAAAIE E X 200,000 200,000 0
O=JIELMIIK XN (HE) 200,000
308 MXISHMSOIA 180,000 180,000 0
10 B 2SHUSE AN EAISH| 180,000 180,000 0
OFd &Y Sdg T2 )dH 29 180,000
HEA HolAERE 29 423,000 300,000 123,000
= 144,000
== 279,000
307 212t0| & 423,000 300,000 123,000
= 144,000
& 279,000
05 QIZ2tR EF 2 423,000 300,000 123,000
OFEHEA HlojlAZE 2 423,000
= 144,000
= 279,000
SEMEMA MEARSE HEXH 1,392,030 926,000 466,030
= 656,774
& 735,256
308 XAHXIGHH SO0l & 1,392,030 926,000 466,030
= 656,774
& 735,256
10 2| 2SHUSHE A XERAEASH] 1,392,030 926,000 466,030
OE=detad d2dHRoH WX 1,392,030
= 656,774
o= 735,256
+88 FEdXel AP (EE) 194,347 163, 200 31,147
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R TEE-EE=3=x"
HE: HANM U A2 =0
el Huaxel 2o CERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 34,006
& 160,341
308 XHXIEH SO0l A 194,347 163,200 31,147
2 34,006
&< 160,341
10 212 SUHUSHE A EAE AT Y| 194,347 163,200 31,147
OgL+dg FEAd XA 194,347
= 34,006
& 160,341
A+AS MEAAKX L MY (X)) 574,213 521,780 52,433
= 384,000
=} 190,213
308 MXISHMSOIA 574,213 521,780 52,433
= 384,000
& 190,213
01 IXHHIMNEEXTZ 574,213 521,780 52,433
O2+d3 g 32U AdXel At 574,213
= 384,000
& 190,213
ABEEY H#AE L Xl K& 654,668 0 654,668
2 317,434
= 337,234
308 XXIEHSOIA 654,668 0 654,668
2 317,434
= 337,234
10 B2 SUHUSHEAEAE A Y| 654,668 0 654,668
OAEEY HELXE XS 654,668
2 317,434
& 337,234
HEAdXE 201 FENE Ad 897,038 0 897,038
= 440,619
& 456,419
308 XHXIGH SO0l & 897,038 0 897,038
2 440,619
& 456,419
10 2| 2SHUSHEAXERAEASH] 897,038 0 897,038
OFEdXe 2718 dEHE XA 897,038
2 440,619
& 456,419
ES0 Kooty ZRME 763,604 0 763,604
2 320,302
o= 443,302
307 QI2t0| ™ 763,604 0 763,604
= 320,302
=} 443,302
02 QIZHBAAIE E X 763,604 0 763,604
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R TEE-EE=3=x"
MM HEE® U AXel s
el Huaxel 2o CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OF=EQ M KNgoter TZ2ME 763,604
= 320,302
= 443,302
ES=FHE J|-g ZTME 538,340 0 538,340
= 269,776
= 268,564
307 2I2t0| & 538,340 0 538,340
= 269,776
& 268,564
02 Q2B AMAIE E =X 538,340 0 538,340
OEs3dY J|-g ZzdE 538,340
=2 269,776
& 268,564
NEZ=CE dEARel A (AZ) 2,195,235 104,679 2,090,556
= 1,717,918
= 477,317
308 XX SHHSOIH 2,195,235 104,679 2,090,556
=2 1,717,918
o= 477,317
01 AIXSHMENEXZ 2,195,235 104,679 2,090,556
OXEzx=zcd 3EdXel Al 2,195,235
= 1,717,918
= 477,317
== FUOM ¢58 L2 A& 4,116,000 0 4,116,000
= 2,140,000
& 1,976,000
308 XHXIGH SO0l & 4,116,000 0 4,116,000
= 2,140,000
& 1,976,000
10 2| 2SHUSHEAXERAE ASH] 4,116,000 0 4,116,000
OS5 HUOM ¥z dXxel N 4,116,000
= 2,140,000
o= 1,976,000
== I3 HEAY FEd el N 2,106,000 0 2,106,000
= 1,085,000
= 1,021,000
308 MXISHMSOIA 2,106,000 0 2,106,000
=2 1,085,000
& 1,021,000
10 B 2SHUSHE AN E A 2,106,000 0 2,106,000
O== SI&E HEIAY UL Xe XA 2,106,000
= 1,085,000
& 1,021,000
HE=X - 825 st 4,065,616 3,681,096 384,520
= 27,647
o= 4,037,969
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VR - TER-Eo= =
M HEAET] - HESA

S o/

Sl HUSX 2HI4 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
U =X St 4 it 1,663,000 1,088,000 575,000
HAdet 2EHH 23 &4 1,663,000 1,088,000 575,000

201 Let24d] 8,000 8,000 0
01 At 22/l 8,000 8,000 0
EEd=EZ=SHAMYE 228 M 8,000
308 XX EHH SOl 1,655,000 1,080,000 575,000
01 HIXNHHNBNEES 1,655,000 1,080,000 575,000
OE=dH=ZEZH AY 1,655,000
Y Mzord X& 235t 114,000 199,600 A 85,600
FY RAMRL M= N2 26,000 46,000 220,000
308 XXM SOl A 26,000 46,000 220,000
10 B2 SO 3&HEAE A 26,000 46,000 220,000
OFd BAXRI(EXN2UE)ME3= K& 26,000
sty stXt= OlA K& 88,000 153,600 A 65,600
308 XXIEHHSOIA 88,000 153,600 A 65,600
01 XML EES 88,000 153,600 265,600
Othsrd stit= OlA XI& 88,000
olAd o ZEA I8 2 XH 80,000 0 80,000
Hixt SE=E ARFH JI2HE =8 80,000 0 80,000
207 A RO 80,000 0 80,000
01 284 80,000 0 80,000
OM1IXt sSH=EE AREM JI2HE =8 80,000
IR EZH e KNS Atz Q1A =it 119,496 140,496 A 21,000
= 27,647
< 91,849
MAXZ0 WE ALY 10,000 21,000 A 11,000
307 gl2tol & 10,000 21,000 A 11,000
11T M SXAISE EX 10,000 21,000 A 11,000
OMAEXZ0 WEAE XN& 10,000
=R 2T AHY 25,000 45,000 A 20,000
307 glz2+ol & 25,000 45,000 A 20,000
11T M Z2XAIS EX 25,000 45,000 220,000
OJ=Egs 2324 MY N 25,000
OIR2H tHE &8 ClAINA ALY 45,000 35,000 10,000
307 21201 A 45,000 35,000 10,000
11T MISRASEX 45,000 35,000 10,000
OeR=2H e T8 oA AtY XI& 45,000
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2N

NS Y

HE: HA=X - HEMNIE HSIIBEY
el ISR THS XIHALEl Q1A Ha CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=2 MEs4 =22 AMtsldlal 9 39,496 39,496 0
= 27,647
< 11,849
307 gl2tol & 39,496 39,496 0
= 27,647
< 11,849
11T AIS S RAEE = 39,496 39,496 0
OF= ME4 2= MIHUI 2 X2 39,496
= 27,647
< 11,849
Zey sH- 25 A 2,089,120 2,253,000 A 163,880
SMASTR 2,082,120 2,246,000 A 163,880
308 XAHXIEHH SOl A 2,082,120 2,246,000 A 163,880
01 HIXNHHNBMNEES 2,082,120 2,246,000 A 163,880
Osdte® XNI¥3 2,082,120
QIFRAIH 58 7,000 7,000 0
201 et 7,000 7,000 0
01 At 22l 7,000 7,000 0
OUFANH EE=E MH 7,000
MW 824,480 745,000 79,480
BN 824,480 745,000 79,480
SO EMNEIA 824,480 745,000 79,480
307 21201 A 100,000 100,000 0
02 YAFHAANFEE 100,000 100,000 0
Olfsr Bdw=s 43 XA 100,000
308 MtXIEHMSOIH 724,480 645,000 79,480
01 HXNHHBHELS 120,000 120,000 0
OAZ Bdus 43 & 60,000
OFYUANUE e s 43t X 60,000
1037/ 2S0HUHeEHEAEALS I 604,480 525,000 79,480
OESBMNSTSE 29 604,480
NEelmsd 14,854,711 14,504,062 350,649
Hetw=sX& 14,854,711 14,504,062 350,649
S=ESAL 2E XA 3,925,000 2,888,000 1,037,000
308 MtXIEHMSOIH 3,925,000 2,888,000 1,037,000
1037/ 2S0HUHeEHEAEALS I 3,925,000 2,888,000 1,037,000
OF=sA 2E X & 3,925,000
- NA=S2 1,856,000
-—sSNE2 693,000
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2N

NS Y

e

M. XY NEs
©9: DS (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
-&HF=2 1,376,000
S=CcUeEn 24H N 10,829,711 9,616,062 1,213,649
201 et A H| 10,659,530 9,465,000 1,194,530
05 g st 10,659,530 9,465,000 1,194,530
Os=cgdisn 29H K& 10,659,530
_olm Y| 5,957,539
-2l 3,283,991
- XbAEAE A H| 1,418,000
307 212t01 & 170,181 151,062 19,119
03 AN EESIHE=X 170,181 151,062 19,119
Os=Cgdisn sstgdasd 29 X3 170,181
NEdcUs =4 X3 100,000 0 100,000
307 QI2t0| & 100,000 0 100,000
02 DI2ZtF AAHEE X 100,000 0 100,000
OXNEdzUE 84 NI (HS) 100,000
MEEesS(dEudzgd) 360,000 0 360,000
WEHN XK= 360,000 0 360,000
WEAHH XS 360,000 0 360,000
705 Oll=2 32 24As 360,000 0 360,000
04 Al - SXEIHLD| S0 2==20] XHAHE 360,000 0 360,000
OXEHelNZ2 X3 0l KA E 360,000
HE AL (FEIEHGgLE ) 49,986 49,986 0
Jl2& bl 49,986 49,986 0
&l 49,986 49,986 0
201 LEt2AY| 15,966 15,966 0
01 AR 22| bl 15,966 15,966 0
(OPIR=E==2:] 6,516
@OPIE==2=3:| 9,450
202 04 bl 34,020 34,020 0
01 2LHOHI 34,020 34,020 0
OJ120 bl 34,020
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SN gRsAgg
=R ENTET PTETEES
el dEI2MNE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHFHE & AFHMARAS 3,000
303 Z& 3 3,000 3,000 0
01 243 3,000 3,000 0
Oas8dlt LS 3,000
SHIZAZ2E 420,738 431,063 A 10,325
=0FE SAHMEIA M3 29,300 32,400 A 3,100
201 Let24d] 27,500 30,600 A 3,100
01 At 2teltl 27,500 30,600 A 3,100
Ot & ==ZHl 27,500
202 Odl 1,800 1,800 0
01 S LHAYI 1,800 1,800 0
OSHZEA bl 1,800
FEMIIZSHEA XA 127,966 129,986 A2,020
308 XXM SOl A 127,966 129,986 A 2,020
01 IXNHHBNEES 127,966 129,986 A2,020
O AL &l == A 127,966
SSAS N HEMNY SHZA 263,472 253,677 9,795
201 Let24E] 22,000 12,000 10,000
01 At 22l 22,000 12,000 10,000
Ot &= ZHl 22,000
202 Odl 1,550 1,550 0
01 = LHA YI 1,550 1,550 0
OArEl &= A O HI 1,550
308 XXM SO A 239,922 240,127 A 205
01 IXNHHBNEES 239,922 230,127 9,795
OALE] = At 239,922
THSEES S8 N3 25t 30,800 30,800 0
AHINEFE 30,800 30,800 0
sgcls FHE= 30,800 30,800 0
201 L2l 7,600 7,600 0
03 &Ar2 I 7,600 7,600 0
OFNIME BREEA AHEs 4,600
ORMME EE23 M 3,000
202 Od4dl 16,500 16,500 0
01 = LH o4 1l 1,500 1,500 0
OTtHMIHE =& 04 H 1,500
04 2 H 304l 15,000 15,000 0
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2N

Kb A TH &

HE: UKy Y=
S MY 2 X2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2

OXNAMLUE =& 3,800
OgMu= 5,500

SHEE ANSYHHAEST 29 14,446 10,730 3,716

201 et d| 7,000 3,800 3,200

01 AP 2t 2| H| 5,500 3,800 1,700
O&®=, 2lMs, X2 g 5,500

03 A2 A H| 1,500 0 1,500
OXNSsSYMHAET 0 F S A 1,500

301 et M= 7,446 6,930 516

09 #HAIAHI XIS 2 5,026 4,730 296
Oszlo(nsg) 84 H ¥ WS 4,026
OXNSEHHAS S O|FH LA (LR 1,000

12 J|EtE2 A= 2,420 2,200 220
OXIN H = 2,420

Al NG e X 25,000 25,000 0

308 XAHXIEH SOl A 25,000 25,000 0

01 AIXSHMENEX= 25,000 25,000 0
OoMHus sstad 22,000
Onais & s32xX& 3,000

EZE20l2E 143,000 133,000 10,000

201 et | 53,000 53,000 0

01 AR 22l ] 53,000 53,000 0
OExd2E8lY 222 H&E 3,000
OS2l 28 2= 50,000

308 MXISHHSOIA 90,000 80,000 10,000

01 IXHHIMNEXS 90,000 80,000 10,000
OEZELEE AL 90,000

= A [ = H| 112,500 0 112,500

308 XX SHHSO0IA 112,500 0 112,500

01 AIXSHMENEXZ 112,500 0 112,500
OZSE U= 92,500
O0s% HIAY 20,000

XNEOHE A2 2SH| 133,200 0 133,200
= 108,000
= 25,200

403 XX SRS K2 0| & 133,200 0 133,200
= 108,000
= 25,200

01 MXHHNE2BE = 133,200 0 133,200
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A AT

Za: ooy 2 =27
o
7T

Sl WU 2 RX (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

OXTHH AIEE 1T KEAE 133,200
= 108,000
< 25,200

TH ol <1 & X = & Hl 54,074,000 52,642,700 1,431,300
= 42,054,500
= 12,019,500

THoH R X7 A 43,732,700 41,403,100 2,329,600
= 33,639,000
< 10,093,700

202 oddl 2,000 2,000 0

01 = LH o4 1l 2,000 2,000 0
OMoiAE X7 HBIALE =& K| 2,000

403 A X EHHS =0l A 43,730,700 41,401,100 2,329,600
= 33,639,000
< 10,091,700

01 X HHMA=LE L 43,730,700 41,401,100 2,329,600
OMoHAE X7 A 43,730,700
= 33,639,000
< 10,091,700

SZAMA SUAEXS ZHIAY 3,966,600 5,708,600 A 1,742,000
= 3,050,000
S 916,600

202 O4dl 1,600 1,600 0

01 =L 4 Hi 1,600 1,600 0
OSZ ALK SUAEXNS FHIAMY =& 0l 1,600

403 MHXISHE X201 E 3,965,000 5,707,000 A 1,742,000
= 3,050,000
< 915,000

01 XM A=2EE 3,965,000 5,707,000 A 1,742,000
O=Z A SUASXNS HUAL 3,965,000
= 3,050,000
< 915,000

S=MFAE XA 2,001,500 5,498,500 A 3,497,000
= 2,001,500

403 A X EHHS 20l A 2,001,500 5,498,500 A 3,497,000
= 2,001,500

01 X EHHMA=LE L 2,001,500 5,498,500 A 3,497,000
Of=MFIAE XA 2,001,500
= 2,001,500

Mol ?I® M==Xl EHIAS 941,200 32,500 908,700
= 724,000
< 217,200

403 MtXSHHS =0l & 941,200 32,500 908,700
= 724,000
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2N
X ZH -
L= B
=

Kb A TH &

ool 2=

© Mol ?I & X2 &l

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

T 217,200

01 X SHM 22X 941,200 32,500 908,700
OMAE M=Kk HHIALS 941,200
=2 724,000
= 217,200

Z40H MEA SHIUAY 3,432,000 0 3,432,000
= 2,640,000
= 792,000

403 X SHA S Xt =0 3,432,000 0 3,432,000
= 2,640,000
& 792,000

01 X SHHMA 28X 3,432,000 0 3,432,000
OZ=0 M3 SSHHIAY 3,432,000
= 2,640,000
& 792,000

ANARS NS E TS 79,269,000 105,026,000 N 25,757,000
= 2,500,000
A 600,000
T 76,169,000

OF & H of Ol &+ A S 69,891,000 71,480,000 A 1,589,000

SHA GAXI P Lol ASKNLAIL (HEAY) 5,700,000 6,000,000 300,000

401 Al HIL 200 5,700,000 6,000,000 300,000

01 Al &bl 5,348,000 5,490,000 A 142,000
Ostd Y AKX 7 ol &S K& AN 5,348,000

02 2eltl 350,000 500, 000 A 150,000
Osta GA2X 7 o a S K& AN 350,000

03 A& 20 b 2,000 10,000 A 8,000
OstdE Ga2X 7 =& SXIHA ALY 2,000

ZEYUH HEND +HASKNLA (HSAIL) 1,584,000 3,000,000 A 1,416,000

A&H L2 1,584,000 3,000,000 A 1,416,000

01 A& HI 1,583,500 2,990,000 A 1,406,500
OFZ48d HEXNR? FoldSXIMSEAH 1,583,500

03 AlE 201 Y] 500 10,000 A 9,500
=ZYE HEXNF =HaSXMAAS 500

PAM S ASKIMAAS (HEAS) 4,668,000 4,000,000 668,000

401 Al HIL 200 4,668,000 4,000,000 668,000

Al & H| 4,667,500 3,990,000 677,500
ORAE A SKINEAS 4,667,500

03 A& 2 0HH| 500 10,000 A 9,500
ORAE &SR HE AL 500

BN SOHASXIONA AL (M EAFY) 3,600,000 5,000,000 A 1,400,000




1

t

SAM: KA TH D
M AN M AT
Sl ob & XHoH ol 2t AFY (ct
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A&H L 20U 3,600,000 5,000,000 A 1,400,000
01 A& HI 3,599,500 4,990,000 A 1,390,500
O >aHaS KNS AL 3,599,500
03 Al 201 Y] 500 10,000 A 9,500
OMA =HASKIIME ALY 500
QIUA SoHASKIMAAIS (HEAS) 4,500,000 5,696,000 ,196,000
401 Al HIL 201 4,500,000 5,696,000 A 1,196,000
1 A& I 4,096,000 5,186,000 1,090,000
OR2IAE oA SX NS ALY 4,096,000
02 2eltl 400,000 500, 000 A 100,000
O2Jta o &S X H & A 400,000
03 A& 2 0HH| 4,000 10,000 A 6,000
OR2IAE oA SX NS ALY 4,000
A=A KNUSIE A (HEAS) 5,700,000 2,700,000 3,000,000
[R=N=1R=0==a =] 5,700,000 2,700,000 3,000,000
01 A& HI 5,295,000 2,391,400 2,903,600
Ogsa® XNYota ALY 5,295,000
02 2teltl 400,000 300,000 100,000
Ogsd XealE I AL 400,000
03 A& 20HbI 5,000 8,600 A 3,600
Ogsa® XYota AU ALY 5,000
St 22X XNUotEHUIAY (HEALY) 5,700,000 3,000,000 2,700,000
401 Al HI L 2 0HHI 5,700,000 3,000,000 2,700,000
01 A& HI 5,499,500 2,790,000 2,709,500
Ostd 2K 7 XNLotE HH ALY 5,499,500
02 Zeltl 200,000 200,000 0
Ostd 2 X7 Kot HH AL 200,000
03 Al& 201 Yl 500 10,000 A 9,500
Ostd S X 7 XNLotE HHALSY 500
Stotd XMUX P KBS AEHIAY (MEAIY) 4,000,000 4,000,000 0
401 AIEHIL 20| 4,000,000 4,000,000 0
1 A&l 3,598,000 3,590,300 7,700
O AR XSt HHIA 3,598,000
02 Zeltl 400,000 400,000 0
Oda HAX 7 XLatAF Ul A 400,000
03 Al 201 Y] 2,000 9,700 AT,700
Odad EHAXFP XUoHE ZHI ALY 2,000
BAEAM BT XU EUH AL (HSAY) 2,774,000 4,000,000 A 1,226,000
-




SA: XD
M NAHSNG AT
ol 2

Ch2l: SF& TH ol Ofl 2 AF (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET

TAIEHI &R 2,774,000 4,000,000 A 1,226,000

01 A& HI 2,773,000 3,990,000 A 1,217,000
OFd BHEXF XNLoEZH ALY 2,773,000

03 A2 S THHI 1,000 10,000 A9,000
O&&d BHXF XNLotEZH ALY 1,000

Zed XYGHE ZH ALY (HEALY) 4,000,000 3,000,000 1,000,000

401 AIEHIZL 2CHYI 4,000,000 3,000,000 1,000,000

1T AIZHI 3,799,500 2,790,000 1,009,500
O NYStAEFZH AL 3,799,500

02 2feldl 200,000 200,000 0
O&FEd XNEot&EEHlAY 200,000

03 A2 2 THHI 500 10,000 A 9,500
OFEd XNEotdEZHIALY 500

HE& &K XYEHE AL (M AN ) 1,500,000 3,000,000 A 1,500,000

ANEHI &b 1,500,000 3,000,000 A 1,500,000

01 A& HI 1,497,000 2,690,300 A 1,193,300
OUEE HEXI+ XIotE EHIAHY 1,497,000

03 AIE =2 THHI 3,000 9,700 A6,700
OUEE HEX - XEotd B ALY 3,000

Agd AEXT XLt FHIAI (HEALS) 3,200,000 3,000,000 200,000

401 AIEHI L 2CHEI 3,200,000 3,000,000 200,000

A& HI 2,999,500 2,790,000 209,500
O&gd AEX= XNLotEZH ALY 2,999,500

02 2feldl 200,000 200,000 0
O&dgd AEX~+ XNEotdEZH ALY 200,000

03 Al 2 THHI 500 10,000 A 9,500
OXgd AgX+ XgotE EH ALY 500

JHE& AN 7 XNYotE A (HsAR) 3,500,000 3,000,000 500,000

T AIEHI SR 3,500,000 3,000,000 500,000

01 A& HI 3,299,000 2,790,000 509,000
OJZ& JHEXF XYotE EHI ALY 3,299,000

02 2teldl 200,000 200,000 0
Ot & IJtd X+ XNEotEZH ALY 200,000

03 AlZ 2 THHI 1,000 10,000 A 9,000
OJZ& BN 7 XY5HE EHI ALY 1,000

SHHA SHAIX 7 XYot& AL (HBAIY) 3,400,000 3,000,000 400,000

401 Al HIZ 2 048I 3,400,000 3,000,000 400,000

01 A& HI 2,899,500 2,690,300 209,200
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SA: XD
Hu: NeASHGHSYEY

CHRl: oL & THOH Ol & AL S (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

OStH A SHH X P XI&otE ZHIALE 2,899,500

02 22l 500,000 300,000 200,000
OStAA SHHX 7 KXot HH ALY 500,000

03 AlE 201 Y| 500 9,700 N 9,200
OStH A SHH X XI&otE ZHIAFE 500

OHLHA OHLHXI P XIS EHIAIS (MEAFS) 200,000 400,000 A 200,000

401 AlEHIZL 2 0HY| 200,000 400,000 A 200,000

01 Al&H| 198,600 397,120 A 198,520
OCHHA O X7 XIS EHIAFY 198,600

03 Al 201 Y| 1,400 2,880 A 1,480
OCHUHA OFUWXI T XIZotE EHIAY 1,400

NEM SU2K P XL EH ALY (HEAIY) 2,500,000 2,000,000 500,000

401 AlEHIZL L2 0HY| 2,500,000 2,000,000 500,000

01 Al&H| 2,299,500 1,594,300 705,200
OXEA SU2X 7 XUstEHGIALY 2,299,500

02 22l 200,000 400,000 A 200,000
OXEA SU2X P XUt AHAIS 200,000

03 AlE 201 Y| 500 5,700 N5,200
OFHEHA SA2X 7 X2Uotd U ALY 500

AW AWK P KNS EH ALY (MEAIY) 200,000 400,000 A 200,000

401 AlEHIZL 2 0HY| 200,000 400,000 A 200,000

01 Al&H| 198,600 397,120 A 198,520
OAHA AWK T KA EH ALY 198,600

03 Al 201 Y| 1,400 2,880 AN 1,480
OA20A AWK F XNESHEEH ALY 1,400

AOI =& AOI2X 7 Kot EBIAIY (HEAIY) 1,500,000 2,000,000 A 500,000

401 AlEHI 2L £ 0HY| 1,500,000 2,000,000 A 500,000

01 Al&H| 1,098,000 1,594,300 A 496,300
OAOl= & AIOI= X X &otdE EH AL 1,098,000

02 22l 400,000 400,000 0
OAOI =& AOIZSX P Kot HH ALY 400,000

03 AlE 201 | 2,000 5,700 A 3,700
OAOl =& AIOI= X X &otd EHI AL 2,000

BEAM B2X P AU EHI ALY (MEAIY) 200,000 200,000 0

401 AlEHIZL 2 0HY| 200,000 200,000 0

01 Al&H| 198,600 198,600 0
OBEA B2 XNUSIEEH ALY 198,600

03 Al 201 Y| 1,400 1,400 0

_84_




SA: XD
M NAHSNG AT
ol 2

CHRl: oL & THOH Ol & AL S (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

OBEA B2X P XotEZHALE 1,400

ol RYUA SRR T KU EE ALY (HEAIY) 2,000,000 2,000,000 0

401 AlEHIZL £ 0HY| 2,000,000 2,000,000 0

01 Al&H| 1,999,000 1,992,800 6,200
Ot & & ot X7 KNLetE U ALY 1,999,000

03 Al 201 Y| 1,000 7,200 N6,200
Oodt A ot XF7 KNLotE HE ALY 1,000

SAM AT XLUSHEEHAS(HSAY) 2,700,600 1,000,000 1,700,600

401 AlEHIZL 2 0HY| 2,700,600 1,000,000 1,700,600

01 Al&H| 2,698,600 995,000 1,703,600
O24A 2AXF XUt EH ALY 2,698,600

03 Al E2HH] 2,000 5,000 A 3,000
ORMA R2AXNF NS EHH ALY 2,000

Sd 22X Aot A AIY (S EAIY) 1,500,000 1,000,000 500,000

1T AIEHZ 2L 1,500,000 1,000,000 500,000

1 Al& H| 1,098,000 993,700 104,300
OSsd 2d=2X+F XeotdAH AS 1,098,000

02 2eldl 400,000 0 400,000
OSd =X+ Aeste AL AL 400,000

03 Al 204 Y| 2,000 6,300 A4 ,300
OSsd 2d=2X+F Aot AGAIS 2,000

235d 23X P KU EH ALY (HEAIS) 200,000 800,000 A 600,000

401 AIEHIZL 2 0HY| 200,000 800,000 A 600,000

01 Al&H| 198,600 795,000 A 596,400
Ossd SotXP XotEZH AL 198,600

03 A& E2HH] 1,400 5,000 A 3,600
Ossd 23 XF NSt EH ALY 1,400

S A SR XU B AL (HESAY) 200,000 800,000 A 600,000

AEH Y200 200,000 800,000 A 600,000

01 Al&H| 198,600 795,000 A 596,400
2ed 29X R XLotE ™ ALY 198,600

03 AlE 20| 1,400 5,000 A 3,600
O2Y%d 22X KNSt EH ALY 1,400

S A SHE X P X LUSHEEHIAL (HEAY) 200,000 800,000 A 600,000

401 Al HI L 2 0HHI 200,000 800,000 A 600,000

01 Al & H| 198,600 795,000 A 596,400
OstEA SHE X7 XYotE HH ALY 198,600

03 AlE 201 1,400 5,000 A 3,600
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2N
X ZH -
L= B
el

5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

Ost A SHEZ X P X &otE ZHALE 1,400

05 AEXNT? XNLSIEZH AL (MEALS) 200,000 800,000 A 600,000

401 AlEHIZL £ 0HY| 200,000 800,000 A 600,000

01 Al&H| 198,600 795,000 A 596,400
Oblsd Sd3XF KNS EH ALY 198,600

03 Al 201 Y| 1,400 5,000 A 3,600
Oflagd 88X F XNt EH ALY 1,400

KAt AT R XL B AL (HSAY) 100,000 800,000 A 700,000

401 AlEHIZL 2 0HY| 100,000 800,000 A 700,000

01 Al&H| 99,300 795,000 A 695,700
Oqetd {8X P XotEZHALE 99,300

03 Al E2HH] 700 5,000 A4 ,300
Odetd Je8XF NSt HH ALY 700

HEA AR XLSIEZEH AL (HEAY) 200,000 800,000 A 600,000

1T AIEHZ 2L 200,000 800,000 A 600,000

1 Al& H| 198,600 795,000 A 596,400
OUEA YAXF XLt EH ALY 198,600

03 AlE 21| 1,400 5,000 A 3,600
O&EA DYAXF KA EH ALY 1,400

DOFE DOFK T XLt EHUIAS (HEAY) 200,000 0 200,000

401 Al HI L 2 0HHI 200,000 0 200,000

01 Al& H| 198,600 0 198,600
OO0 DOFKF XNZYotE HH ALY 198,600

03 AlE 21| 1,400 0 1,400
ODN0FE DOFKI P X &otdE ZHI AL 1,400

HEH HEX P XNUSHEZHAMY (HSAY) 700,000 0 700,000

401 Al HI L £ 0HHI 700,000 0 700,000

01 Al&EH| 696,000 0 696,000
OHEA HEXF XNLUSHE HH ALY 696,000

03 Al&E 201 Y| 4,000 0 4,000
OHEHA HEXF XNLotEEH ALY 4,000

ObLt ™ OFLE | 2 XSG ZHIAIS (D EAFS) 700,000 0 700,000

401 AlEHIZL £ 0HY| 700,000 0 700,000

01 Al&H| 696,000 0 696,000
OO0t d ot X7 XIot™E EH ALY 696,000

03 Al 201 Y| 4,000 0 4,000
OOt A Ot X2 XIYotE U ALY 4,000

DEO| A MUIAH (HESALY) 2,564,400 1,680,000 884,400
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SA: XD
M NAHSNG AT
ol 2

CHRl: oL & THOH Ol & AL S (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
403 XX SHHS K20 & 2,564,400 1,680,000 884,400
01 AIXISHHMA=Z2E X 2,564,400 1,680,000 884,400
ODNE9 28 HHIAY 2,564,400
St AU D|etR = 1,500,000 1,200,000 300,000
SlEJIE2HE Y 1,200,000 1,200,000 0]
401 AlEHIZL 2 0HY| 1,200,000 1,200,000 0
01 Al&H| 1,193,040 1,193,040 0
Odlt&I|I2HE £+ 1,193,040
03 A2 0HH| 6,960 6,960 0
OsctEII=2HEE 6,960
SH=L oA SeEHHE =8 300,000 0 300,000
1T AIEHIZ 2L 300,000 0 300,000
01 Al&H| 297,840 0 297,840
Osd=EL NLolESSEHEAHE =8 297,840
03 Al 20| 2,160 0 2,160
OEESE NUSIEESESEHHAHE =T 2,160
ol X2l AL 7,878,000 32,346,000 N 24,468,000
= 2,500,000
A 600,000
o= 4,778,000
X eotd S A 22| AL 2,500,000 1,500,000 1,000,000
403 XX S M S X201 A 2,500,000 1,500,000 1,000,000
01 MHXSHHE2BE = 2,500,000 1,500,000 1,000,000
OX Yot S X 22l At 2,500,000
St S X2l F=8 Hax=2H| 26,000 26,000 0
201 gBt2A | 26,000 26,000 0
01 AP 2t 2| H| 26,000 26,000 0
OgerA A 2| 26,000
2IIotE S A 22l Al 2,500,000 2,500,000 0
= 2,500,000
403 XX SHHS K20 & 2,500,000 2,500,000 0
= 2,500,000
01 XIS A=Z2E X 2,500,000 2,500,000 0
O=2Jletd KX 22l At 2,500,000
= 2,500,000
Xeots DX B4 1,000,000 1,000,000 0
401 Al HI L £ 0HHI 1,000,000 1,000,000 0
01 Al& B 994,000 994,000 0
OXesold DIE=2X 24 994,000
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2N

MY NAMSNGHSE T
& StE KX 22l ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 AlE 2 THHI 6,000 6,000 0
OXgstd DI=2EX 24 6,000
St& FHIALS 52,000 132,000 280,000
403 MtXISHHE X201 & 52,000 132,000 A 80,000
01 XM A=2EE 52,000 132,000 280,000
Oot& ZHlAY 52,000
=& A2 MaX A48AMd 1,200,000 2,600,000 A 1,400,000
403 A X EHHS =0l A 1,200,000 2,600,000 21,400,000
02 SO 2SO HSHAHE X 2 &AL H 1,200,000 2,600,000 A 1,400,000
OUZSH 272 M=K HAEAS 1,200,000
QA2 10HA THOH O AL 300,000 0 300,000
N 300,000
403 UHXSHHSA=0l& 300,000 0 300,000
N 300,000
01 HXHMA=LE X 300,000 0 300,000
OLdAL 10 THOH O AL 300,000
EN 300,000
S2H2 1A THOHO AL 300,000 0 300,000
N 300,000
403 X SHHE =0l & 300,000 0 300,000
N 300,000
01 XM A=2E X 300,000 0 300,000
OEZ&E2 104 THoH 0l 2 AL 300,000
N 300,000
StEAIEZ e 850,000 900,000 250,000
StEAIEESE 02 850,000 900,000 250,000
SHEAMEZESWES 850,000 900,000 A 50,000
308 XXIEHH SOl A 850,000 900,000 A 50,000
02 8+NF= 850,000 900,000 A 50,000
OotEANESHTUEZ 850,000
HAE2HZH (KA T D) 76,925 69,425 7,500
Jl2&dl 76,925 69,425 7,500
JlE2&l 76,925 69,425 7,500
201 et 22,175 22,175 0
01 At 221l 22,175 22,175 0
OJle=+=&Hl 9,050
OJleas gl 13,125
202 O4dl 47,250 47,250 0
01 = LH o4 1l 47,250 47,250 0
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M AT

NI SHN R
L= B S o -

Lt ﬂl;

)

S HHI (KAL)

ch: JI24dd| (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OJI20 | 47,250
405 KHoHFE S HI 7,500 0 7,500
01 XA 2B F S| 7,500 0 7,500
OgRESX 7,500
HEESS (AT D) 12,175,175 17,545,625 N5,370,450
WEHN K= 12,175,175 17,545,625 N5,370,450
HEHHX = 12,175,175 17,545,625 N5,370,450
702 1282 2,676,000 8,227,000 5,551,000
MoIsEE2 2,676,000 8,227,000 5,551,000
OMH&eII2NE2 2,676,000
705 Ol=2 22| 24aE 9,499,175 9,318,625 180,550
03 Al - EXYIHED I S0UH =224 7,070,000 6,800,000 270,000
OsIUlalE R A (2005) 3,500,000
Ol as XM AS (2011) 1,200,000
Ol as X MA A (2012) 1,000,000
Ol asXIMAAS (2014) 1,000,000
OLHaSRMAASD 2XF XHEH2010) 370,000
04 Al - S XYL S0 £=20| XFatst 2,429,175 2,518,625 A 89,450
Ozl =32 A (2005) 122,500
Oz=ol A& XA A (2011) 294,000
O=z=oll & XA AFH (2012) 280,000
Ol a& XM A AFD (2014) 300,000
Ol aSXMAASE 2XF XHEH2010) 66,600
Ol && XM A AHD (2015) 300,000
O==oll & XA AFH (2016) 306,075
ORXleatdE JEH ALY (2017) 200,000
OX eatd EHl ALY (2018) 260,000
ORXletatdE JH| ALY (2019) 300,000
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o= 643,200
NEZ=2=SH MEfH =4 1,153,200 1,153,200 0
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o= 643,200
NE2SH 43 It 2= 18,200 18,200 0
201 et 8,000 12,000 A4 ,000
01 AP 2t 2] H| 4,000 4,000 0]
OgbrA A= ZH| 4,000
03 A2 I 4,000 8,000 A 4,000
OXEZ2=H S48 E23 MA 4,000
203 €2 F=&d| 6,200 6,200 0
03 AIEH =X H 2 F XY 6,200 6,200 0
OXNdGzssH 43 F4 1,200
O0I2E AISISH L XSAES 5,000
301 et A =2 4,000 0 4,000
09 HAIAHI XIS 2 4,000 0 4,000
OXNe2=sH 43t E235 &4 AlH X 4,000
NE2sH 92 23 & X 96,000 100,000 A4 000
308 MXISHHMSOIA 96,000 100,000 A4 ,000
01 AXHHIMNEXS 66,000 70,000 A4 000
OXEZ2SH Hot S2AY 30,000
OXNYZ2sH &84 ALY 36,000
10 B 2SHUSE AN EAISH| 30,000 30,000 0
OMSEHAMINY M= 22 = X& 30,000
XNEAS &4 JIgtxHd 1,020,000 1,000,000 20,000
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308 XX SHHSOIH 20,000 0 20,000
g 10,000
= 10,000
01 AIXSHMENEXZ 20,000 0 20,000
OXYAs M3t JIBtX2A A FHI 20,000
g 10,000
& 10,000
403 XX SHHS K20 & 1,000,000 1,000,000 0
Fag 500,000
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
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OXEZ2SH S=AdE Z2t 7,000
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o= 303,809
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o=} 303,809
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Fag 1,519,045
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308 MXISHMSOIA 1,822,854 1,080,000 742,854
g 1,519,045
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01 IXHHIMNEEXTZ 1,822,854 1,080,000 742,854
OXNEZ2SHL XA 1,822,854
Fag 1,519,045
&< 303,809
A HBE)=S 28 ANsdEAE 28 139,016 136,496 2,520
A8 HES23 460 OOl 8y AU 139,016 136,496 2,520
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201 et 9| 5,600 5,600 0
03 A2 HH| 5,600 5,600 0
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AN UAEASSH D
M g2 23
ol ozt X8 (S5 &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 A2 Z Hl 1,000 2,000 1,000
OMEBIAZUHOIC A2 1,000
= 500
< 500
301 LA F 6,200 7,200 A 1,000
= 3,100
< 3,100
09 #HALAHIXI &3 6,200 7,200 A 1,000
OMEBZLZIHEHT SAIEA MHE 4 6,200
= 3,100
= 3,100
HESAEs &E 1,172,829 1,160,980 11,849
= 385,682
< 787,147
NHSAE LAY =2 471,084 453,850 17,234
307 21201 A 471,084 453,850 17,234
02 It M AIHE L 145,000 130,000 15,000
OXNESAH W=E & AJIEE ALY 105,000
ONJASAL SKH & 243 MY 40,000
03 QIZtHNHE2HHEX 326,084 323,850 2,234
OSENIASAMEEH 22 326,084
ANZAUEASAMEAEH SAES X2 277,200 301,000 A 23,800
308 X EHSOIA 277,200 301,000 A 23,800
01 AXSHBLAEES 277,200 301,000 A 23,800
OAl - 2 NESAHEH SAES XI& 277,200
NASAH &K 68,566 65,804 2,762
= 29,703
< 38,863
307 glz2+ol & 68,566 65,804 2,762
= 29,703
< 38,863
02 IZtE M AMHEE 68,566 65,804 2,762
OX2SA ZOUOIH NA(ZHE) 68,566
= 29,703
< 38,863
A SA E83HKIA(AZ) 319,297 304,073 15,224
= 319,297
308 XtXIEHHSOIA 319,297 304,073 15,224
= 319,297
01 HXNHHBHELS 319,297 304,073 15,224
OXJSAtdEH ZCIUIOIH XI& 319,297
= 319,297
ANEASAR BEZ(AZ) 36,682 36,253 429
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Bu: 02 2
ool HRZAMES XS CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 36,682
308 AXIEH S0 A 36,682 36,253 429
= 36,682
01 HIXNHHBNEES 36,682 36,253 429
ONASAA B2 X& 36,682
= 36,682
MIIEDIIE L 02018 |4 12,626,302 9,171,809 3,454,493
= 4,241,815
s 5,674,000
< 2,710,487
MIEIZ L OIS0 |4 12,626,302 9,171,809 3,454,493
= 4,241,815
s 5,674,000
< 2,710,487
AHAMEESEE 43 A2 440 2,200 A 1,760
201 L2l 440 2,200 A 1,760
01 At 22l 440 2,200 A 1,760
OolgMy Sigtasz 440
AMSIEZRMOIY AFSOHEHl XI& A 1,046,185 657,957 388,228
= 927,000
< 119,185
308 XtXIEHHSOIA 1,046,185 657,957 388,228
= 927,000
< 119,185
01 AXNSHHEBAMNEES 1,046,185 657,957 388,228
OAMIIHZNMINIY AL Hl K& A 1,046,185
= 927,000
= 119,185
A2l EDIY 2835 XI3AY 110,000 70,000 40,000
307 gl2tol & 110,000 70,000 40,000
02 IZtE M AHE L 50,000 50,000 0
OMSIEIIHIL &4 - A2 W= 20,000
OAZI&EIIX Usel ¥ 289 5,000
OAZI &I UWES3 435 X 25,000
08 OIXtEHE 3 60,000 20,000 40,000
OMaIHIIY SELX= 0IXAEdS 60,000
NS5 AFHIHEH K& A 303,857 228,571 75,286
= 240,000
< 63,857
307 21201 A 212,857 148,571 64,286
= 149,000
= 63,857
02 It S AMHEL 212,857 148,571 64,286
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L= B

el

SSH
s a= U ==
[ l= | = e

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAZI DY XIASSAIY AL N HI (Z S Al
&) 212,857
= 149,000
< 63,857
308 XX EHSOIA 91,000 80,000 11,000
= 91,000
01 HIXNHHNBMNEES 91,000 80,000 11,000
OAZI EIIY XIASIAIY AL 0L HI (Al Al
a) 91,000
= 91,000
g5 gd3 = 35,000 35,000 0
307 gl2tol& 35,000 35,000 0
02 It M AHE L 35,000 35,000 0
Ogsxe g4d3 NEAMY 35,000
A EIY 4 (MIBEEXH) 379,167 441,286 A62,119
s 350,000
< 29,167
308 XXM SO0l A 379,167 441,286 A62,119
s 350,000
< 29,167
01 IXNHHBNEES 379,167 441,286 A62,119
OMIAEIS MIBESE XA 379,167
s 350,000
< 29,167
A EDIY SH(LNeIEE) 5,230,333 2,564,915 2,665,418
s 4,828,000
< 402,333
308 XXIEHHSOIA 5,230,333 2,564,915 2,665,418
s 4,828,000
< 402,333
01 XML EES 5,230,333 2,564,915 2,665,418
O(0bN At HOld erored XAALY 4,469,833
s 4,126,000
< 343,833
O(GENAIZI RIS M2 XJAAMY 760,500
s 702,000
< 58,500
AZIEDY HARIRS 2 15,600 14,400 1,200
201 et 15,600 14,400 1,200
01 At 221l 15,600 14,400 1,200
OdAeI&a =4 10,080
Ot & ==ZHl 5,520
OS2I SdAY 770,000 540,000 230,000
s 496,000
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307 glz2tol & 372,000 220,000 152,000
s 181,000
< 191,000
02 It M AHE X 10,000 0 10,000
OASIHZHMINIY Az WA 25 /LS 10,000
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s 181,000
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s 315,000
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01 IXNHHBNEES 378,000 300,000 78,000
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10 B2 SOHUEE &S A 20,000 20,000 0
onslIgd Ms g2X& 20,000
HILIEIHIZLA 843 A (ZHEEXE) 319,000 370,000 A51,000
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= 361,815
= 446,615
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= 361,815
< 446,615
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< 446,615
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L PIETESE 25,129,432 19,559,866 5,569,566
= 18,428,838
o 6,700,594
ALS 2 XX & 25,129,432 19,559, 866 5,569,566
= 18,428,838
o 6,700,594
120 g2=&X 78,600 78,600 0
201 et 9| 27,000 27,000 0
01 AP 2t 2] H| 27,000 27,000 0
OgBrA A= ZH| 27,000
202 o4 H| 4,800 4,800 0
01 201 | 4,800 4,800 0
OAZEXNEHM HR2F=X 4,800
203 € R =& 46,800 46,800 0
03 AIEH =X H 2= XY 46,800 46,800 0
OMISXNER =& 46,800
ASIEX ALY 458 XA 499,769 546,897 N4T7,128
307 QI2t0| & 481,769 448,897 32,872
10 A SXNANEEHESIHEX 285,028 263, 364 21,664
O=E=EM3EXNET 29 285,028
11T A EXAIEEX 196,741 185,533 11,208
OAZEXNZ2ER223 X 90,000
OZdgzewy 29 96,741
OF=EMIEXNA d2FS A5 = 10,000
308 XAHXIGHHM SO0l & 18,000 18,000 0
01 HXHHIMNEXS 18,000 18,000 0
OAZ AMEEsXE2E 29 NS 18,000
SHE=SC=SEAMISXNLAEH 2 XE 661,645 587,681 73,964
201 et 6,600 0 6,600
02 2224 6,600 0 6,600
OZE=CSEAMII=EXNLEH HIIHHEA 6,600
307 2Iz2t0| A 598,745 587,681 11,064
05 QIZ2tRE 2 598,745 587,681 11,064
O=HEEE S EXNHH 29 598,745
401 Al HI L £ 0HHI 56,300 0 56,300
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2N
D EXolex s

el

X ZH
S =

EPARSE )

A2l S XX &

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
01 Al&H| 56,300 0 56,300
OZH=ECSEAMIEXNHMH B2 36,300
OZE=SESEAMII=2XNLAH JIsEZ 20,000
AMNSI 22X 2 &0l EAM 8,000 8,000 0
308 AXIEHSOIA 8,000 8,000 0]
01 AIXSHMEMNEX= 8,000 8,000 0
OAMS=2X9 < JE&A 8,000
MISX AU XS 16,000 12,000 4,000
= 8,000
& 8,000
308 XX EHSOIA 16,000 12,000 4,000
= 8,000
&< 8,000
01 AIKSHHEMNEX= 16,000 12,000 4,000
OMEEXXSEHS X 16,000
= 8,000
= 8,000
HIUEIHNH & AIY =& 1,384,825 0 1,384,825
= 1,065,250
= 319,575
308 AMXISHHMSOIA 1,384,825 0 1,384,825
= 1,065,250
= 319,575
01 HXHAHIMNEEXTZ 1,384,825 0 1,384,825
OHRUEIAHNH =AY =& 1,384,825
= 1,065,250
o=t 319,575
MR AISXNSEE AHEG 4,500 4,500 0
201 gBt2A | 4,500 4,500 0
03 HAI2 G HI 4,500 4,500 0
O A EXNZE2L2H ARty X 4,500
ASI XA AHEF 20,000 12,000 8,000
307 2iz2to| A 20,000 12,000 8,000
11T AISIEXAIEEX 20,000 12,000 8,000
OESUHAMI=2 X2 ARG 12,000
O&F= MIASXAUZE 8,000
=2 AMSISXAF HSUS =t 6,000 6,000 0
307 2Iz2t0| A 6,000 6,000 0
11 A EXAIEEX 6,000 6,000 0
O8=Z AMNBIE2XA HEUHE ZOF 6,000
MIISXAIE M /2 128,000 128,000 0
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SH SNEHY
Ba: =0Tl

CHRl: A2 XX (2 &HH)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@i HRE2
301 et A= 128,000 128,000 0
01 Al E & A 462 128,000 128,000 0

OAZEXNAIE MEX /2 128,000

MNIIEXAIE SAA EHEIY 29 150,000 113,000 37,000
307 2izto| A 150,000 113,000 37,000
11T AISIEXAIEEX 150,000 113,000 37,000

OABI=E2XAE A EHEIY 29 150,000
ANSEXAIE SAL HAHQEXH(2H]) 542,922 487,174 55,748
= 380,047
= 162,875
307 QI2t0| ™ 542,922 487 174 55,748
= 380,047
= 162,875
11 A EXAIEEX 542,922 487,174 55,748
OMBIE2XAIE SAX CHHCEE X& 542 922
= 380,047
& 162,875

AMEIEXER XN&E - &84 & s FRAH 4,000 4,000 0
202 o4 | 4,000 4,000 0
01 2Ll 4,000 4,000 0

OAME=2XE XNE - &EH & s =X 4,000

AMNSIEXEHO - Al DF 11,000 8,500 2,500
201 LBt ]| 11,000 8,500 2,500
01 AP 22| H| 11,000 8,500 2,500

OAMEEXEHR - Al WE 11,000

AMSISEXNAESAMI UREE I 336,000 320,400 15,600
307 QI2t0| ™ 336,000 320,400 15,600
10 A SXNANEEHESIGHEX 336,000 320,400 15,600

OMIIEXAE SAA R4 XIS 336,000

AZ AL SXAIE SAL UR$E XS 2,246,928 2,246,928 0
308 AMXISHMSOIA 2,246,928 2,246,928 0
01 AIXSHMENEXZ 2,246,928 2,246,928 0

OAT A SEXAIESAIAN RS 2,246,928

HOIRHEIAAE 29X 56,280 71,400 N 15,120
308 XX EHSOIA 56,280 71,400 N 15,120
01 AIXSHMEMNEX= 56,280 71,400 A 15,120

Ol EXAE 2HXA 56,280

MIIETA BELWNE A 70,000 60,000 10,000

307 2izto| & 70,000 60,000 10,000
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2N
X ZH -
L= B

el

SXE3
SAolgtxd
Atal = XX &

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

11 AMIASANAEE X 70,000 60,000 10,000
OAMZEXNAN BEXNs K& 70,000

L=0lAlE 2| 5,124,479 4,491,470 633,009
= 3,587,135
& 1,537,344

308 XX SHAMSOIA 5,124,479 4,491,470 633,009
= 3,587,135
& 1,537,344

01 AIXHMBAEXZ 5,124,479 4,491,470 633,009
OL=0A4E 294 X 5,124,479
= 3,587,135
= 1,537,344

L=0AAE JsEY 311,767 169, 125 142,642
= 207,845
& 103,922

403 XXISHH S K201 311,767 169, 125 142,642
= 207,845
o= 103,922

01 HXHNMAHEE = 311,767 169, 125 142,642
C=0AIE JsEd 311,767
= 207,845
& 103,922

L=0AIE "I AAE 3,600 0 3,600

201 et A | 3,600 0 3,600

01 AtR 22l bl 3,600 0 3,600
OL =0 A& O M 3,600

Se At 22l A 21 HH] X 952,510 926, 899 25,611
= 732,700
& 219,810

308 XX SHAMSOIA 952,510 926,899 25,611
= 732,700
= 219,810

01 AIXHMBANEXZ 952,510 926, 899 25,611
OSE A Z2IA 212AH K& 952,510
= 732,700
= 219,810

Al SEAta 22 X & 99,000 99,000 0
= 82,500
= 16,500

308 XX S M SO0l & 99,000 99,000 0
= 82,500
& 16,500

01 AXHNBIMNEXZ 99,000 99,000 0
OAlZ Es At 2el X 99,000
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2N
X ZH -
L= B
el

SXE3
SAolgtxd
Atal = XX &

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

= 82,500
< 16,500

SHs AEE sEMHA X3 938,196 938, 196 0
= 899,640
< 38,556

308 A EHSOIA 938,196 938, 196 0
= 899,640
< 38,556

01 HIXNHHNBMNEELS 938,196 938, 196 0
Osts X8 sEAMHlA X 938,196
= 899,640
< 38,556

20174 88 s =XolEs 2= 235,690 459,900 A 224,210
= 226,000
< 9,690

308 XXM SOl A 235,690 459,900 A 224,210
= 226,000
< 9,690

01 IXNHHBANEES 235,690 459,900 A 224,210
020178 8¥8s SXoEs 25 235,690
= 226,000
< 9,690

A3l IS XI& A 11,239,721 7,310,000 3,929,721
= 11,239,721

308 MXIEHSOIH 11,239,721 7,310,000 3,929,721
= 11,239,721

01 HXNHHNBHEELS 11,239,721 7,310,000 3,929,721
OMIZRERNE XA AL 11,239,721
= 11,239,721

Ots=XIMEIAX&A 107,505,076 94,070,632 13,434,444
= 85,835,187
Jl 2,943,074
< 18,726,815

NA0tsES AR 107,505,076 94,070,632 13,434,444
= 85,835,187
J| 2,943,074
< 18,726,815

OsXHEXNFEZZNSH2A 40,000 40,000 0

307 21201 A 40,000 40,000 0

T M SXAISEE X 40,000 40,000 0
OOSAHHEAN